EE

A 7 10
A. B.30 C.30 2 D.2
B 7 12 3
a b. C.
pn
p
0 d’n(x) _ n(x)-ng
¢ dX2 Te n(X)
N, P Te
X = p x20 p p
p Vv
x=0
qVv
n(0)=n, ex
(0)=n, p( kTJ
1-1 pn p X =00
n(e)
n(e) =n,
1-2 p x>0 n(x)
d’n(x) _ n(x)—n,
dx’ D,z,
y=n(x) —nq
d’y _y
dx* D,z,
X X
y=aew (_ Vi DeTe> N C29Xp( DeTe>
®) (0)ex ( - )
nx)—ng=—n -
0 p Dot
_ qV b
n(x) —ng =ny, [exp (ﬁ) - 1] exp <— DeTe>
1-3 p

Je (%)

Jo(x) = qDe 752 = ~ 222 [exp (7) — 1] exp (— %) = —qn, \/f::[exp (Z) - 1]exp (— L)

V/Dete
1-4 p x>0 J. (X)

x=0

=m0 o () -1



